APCSA

Chapter 8 Examination

For this examination, you may use your book, notes, the Internets and other resources but you may not use other individuals. Be sure to answer each question fully and completely using nouns, verbs and –ly words to document your path to solution. Include your Name, Date, Period, and Assignment Name.

1. What is the wrapper class for the primitive type int?
2. Write a statement that copies the elements in the data array to the newData array.

double[] data = new double[15];

double[] newData = new double[2 * data.length];

3. The code below yields a two-dimensional array with how many elements?
final int ROWS = 4;

final int COLUMNS = 3;

String[][] board = new String[ROWS][COLUMNS];

4. What classes must be used to treat primitive type values as objects?
5. Whenever you retrieve an element from an untyped array list, what does the compiler require you to use?
6. Based on the following statement, what does primes[3] equal?
int[] primes = {2, 3, 5, 7, 11};

7. What is a sequence of values of the same type called?
8. What type of for loop traverses all elements of a collection?
9. What term describes two arrays of the same length, in the same program?
10. What type of search process is shown below?

public class Bank

{

    public BankAccount find(int accountNumber)

   {

      for (BankAccount a : accounts)

      {

          if (a.getAccountNumber() == accountNumber) // Found a match

          return a;

       }

       return null; // No match in the entire array list

    }

       . . .

}

For questions 11-20 just select the best choice.


11. One of the uses of the ____ method is to add or remove elements in the middle of an array.

A)
Boolean.booleanValue

B)
System.arraycopy

C)
ArrayList.size

D)
Array.remove

12. Based on the statement below, the angle brackets around the BankAccount type indicate that BankAccount is a(n) ____.

ArrayList<BankAccount> accounts = new ArrayList<BankAccount>();

A)
wrapper class

B)
generic class

C)
primitive type

D)
type parameter






13. Based on the statement below, which of the following codes will cause an error?

ArrayList<BankAccount> accounts = new ArrayList<BankAccount>();

A)
BankAccount anAccount = new BankAccount(1729);

accounts.set(2, anAccount);

B)
accounts.add(new BankAccount(1015);

C)
int i = accounts.size();

anAccount = accounts.get(i);

D)
import java.util.ArrayList;

14. The code below is equivalent to ____.

Double d = new Double(29.95);

A)
int d = 29.95;

B)
Double d = 29.95;

C)
Double d = new <Double>(29.95);

D)
Double d = new ArrayList<Double>(29.95);

15. Arrays suffer from a significant limitation: ____.

A)
index values range from 0 to length + 1

B)
you cannot determine the number of elements in the array

C)
you cannot copy values from one array to another

D)
their length is fixed

16. Based on the statement below, which of the following statements gives the length of the data array?

double[] data = new double[10];

A)
data.size()

B)
data.length

C)
data.size

D)
data.length()

17. Which of the following is considered illegal in Java?

A)
int[][][] a = new int[3][3][3];

B)
int[][] a = new int[5][5];

C)
double[] a = new double[5][5];

D)
double[] a = new double[10];

18. ____ can be used to grow an array that has run out of space.

A)
System.ArrayList

B)
ArrayList.resize

C)
System.arrayResize

D)
System.arraycopy

19. What is the error in the following code fragment?

double[] data = new double[20];

data[20] = 15.25;

A)
A cast is required

B)
data not initialized

C)
A two-dimensional array is required

D)
Out-of-bounds error

20. Wrapper objects can be used anywhere that objects are required instead of ____.

A)
generic classes

B)
clone methods

C)
primitive data types

D)
array lists

21. How do you win Pass the Pig?
22. What common theme in writing code for APCSA would have helped resolve the issues in the Therac-25 Incident?

23. What would be your score on the APCSA examination be if you got 25 multiple guess questions correct and missed 10 and then got the following scores on the Free Response?
	Q1
	Q2
	Q3
	Q4

	6
	5
	4
	4
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Define prgma(a, b=

Prgm

c:=0

primes:={

numbers:={1}

For i,0,b

If isPrimeli) Then
ci=c+l
primes[c)=i

EndIf

[EndFor

numbers:=seq(xx1,c)

EndPrgm

}







24. Give a Before and After view as you change TWO of the following. Explain. 

[image: image2.png]® boolean canMove()
® void move()
® void wmQ

& java.awt.Color getColor()

% int getDirection()

& info.gridworld.grid.Grid getGrid()

& info.gridworld.grid.Location getLocation()
% void moveTo(info.gridworld.grid.Location )
% void putSelfinGrid¢ info.gridworld.grid.G
& void removeSelfFromGrid()

& void setColor(java.awt.Color)

% void setDirectionint)

& Javalang.String L0String()

, info.gridworld.grid.Location )






25. Explain what this program does and how to make it go. Then modify it and explain the results.
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